—BBFUTIVAFTAS XS (7A27 BB %#H)

N = EEFE |BAA  |RER N
=] iv2 KE & (Fr B 57 Ga 73 G8 995 G5 R4k
1808 shBBREX) 90 90
1{EA #HEKRE—Y5JI(L) 90 90
o= BAREMFREXE) 41 41 82
4|5 R HHFEGERLUTC) 14 63 77
58 M(F—LILT) 23 41 64
6| £¥F #5A(Qoo) 63 63
TEE EHEHAXIH 14 48 62
8|&)Il HR(BAKXE) 41 14 55
o#iE {Cth(F—LIaLT) 14 34 48
10(/hH HEEHAEXIH 14 23 37
10[5R% SA@ERLTC) 14 23 37
10788 )] EEREXF) 23 14 37
10[EF FHXEBXE) 23 14 37
10[EF KEEEITALA) 14 23 37
15|17kl BRUEXE K 23 23
15[ #hHa(RERERSK) 23 23
17| KU {Z(GASCTT) 22 22
17|KF  B—(Qoo) 22 22
O[XJIE BEF—LILT) 14 14
19[FH £i&(Qoo) 14 14
19[;Ei8 BRIGEEEIFALA) 14 14
19[/ME I RCEERNIER) 14 14
19|l EEBFEIXSK) 14 14
19|15k EE5ELn—) 14 14
19(#3 5 HaA(BATH) 14 14
26| T2 FITF—LILT) 12 12
26|RF BF—L3LT) 12 12
26|84 K BER(ELXT—TZ=AF) 12 12

29




35U EBRBFOUTILAFTASYX LY (7B 27BEE)

& = EEFE |BAA  |RER N

iz E & (&) 57G8 [73G8 [9.25 G5 AAZE
1|#AK BEXUL/N—FTC) 63 63 48 174
2|1k Et(NOBU) 90 90
2|RAH EX(Qoo) 90 90
4| KR RAEERB) 41 22 63
5|K¥ At—(Qoo) 41 41
5[#H%r EBTth(GASCTT) 41 41
1=k Bal(RETY37) 34 34
8|=8 EZN(EERB) 23 23
8| FE =ANNOBU) 23 23
8|BF FEIULBEEER 23 23
8|IEE EBI(GEEMER) 23 23
1258 FEEGF—LILT) 22 22
13[EH BEHOLNT=XE) 14 14
14 0




A0 EBFOUT ILAFTASYX VY (7R 27B8E)
ZUELL



458 L FBF U IVAFTASY XY (7B 27 BEE)

& = EEFE |BAA  |RER N

iz E & (&) 57G8 [73G8 [9.25 G5 Ak
IGERENICETSED 90 90
1[KE XK(SOTO) 90 90
3£ Fl(Qoo) 63 63
3| Kk ZFEBA(LVHENTC) 63 63
5|#B&K F17(Qoo) 41 41
5[iiEE #&X(SOTC) 41 41
71/MEF E—(Qoo) 23 23
8 0




50 L EBFOUTIVAFTASY XS (7B 27 BBT)

REFE

R

hEH

& - R

iz E & B 57G8 [73G8 [9.25 G5 AAZE
110 FHULRYUIWE) 90 90 180
2RR B—(RERTHS5D) 41 48 89
3|8 K EEE(Qoo) 63 23 86
4|KH XEEZLETC) 63 63
58K BX(ELFX—T=AF) 23 22 45
6Tl BE—(T=RAERNER) 41 41
7|18/3% 2 —(Qoo) 34 34
8| T B —(L\HENTC) 23 23
8|XE ZE—ER(ECTT) 23 23
10 0




55l EBFUT IIVAFTASY XS (7B 27 BET)

[ = EEFE |BAA  |RER N

iz E & (&) 57G8 |73G8 |9.25 G5 AAZE
1[40 SXURIETC) 90 90 180
2|8 RELVHENTC) 23 48 71
3|8RIF f2—(Qoo) 41 23 64
458 ECS(ELETC) 63 63
4[igi0 BRGBIMNT7E—IL) 63 63
6|FHHE FFEFTTC) 41 41
6;8 E—(»BRO—k) 41 41
6| HEX(SOTC) 41 41
9|8 F@ERLTC) 34 34
10[BX AMBLVhEFRTC) 23 23
10 A FEEL—2h—IL) 23 23
12[RE Z(FE/AVR) 22 22
2[R EGFREER) 22 22
14 0




60 L EBFI U IVAFTASY XS (7B 27 BET)

& = EEFE |BAA  |RER N

iz E & (&) 57G8 [73G8 [9.25 G5 AAZE
[ KAR EBA—F—X) 90 41 131
2|;EER BAVTC) 90 90
3R BEX(Qoo) 63 63
EAR XEEHT=XY37) 63 63
S|EfE EE(HENTO) 41 41
5| &k HEHURIETC) 41 41
UESSEES PSS 23 23
2B EBTE/NVR) 23 23
7=EIE BACEIESK) 23 23
1R E—(L—2R—)L) 23 23
11 0




65U EBFIUTIVAFTASY XS (7B 27 BBT)

[ = EEFIE (BERAK  ([DEW o .

iz E & (&) 57G8 |73G8 |9.25 G5 AAZE
1R EGEREER) 90 41 131
2| H E BZ(ZEHTC) 90 90
3|&H FE(EHTC) 63 63
31k BBAGEZTC) 63 63
5|F R IEE(LVHENTC) 41 41
6 0




70U EBFOUTIVAFTASY XS (7B 27 BET)

[ - EEFIE (BERAK  ([DEW o .

i1 E & (&) 57G8 |73G8 |9.25 G5 Ak
1[{EAR HEhREBTYSD) 90 90
2|1k #EAEEZTO) 63 63
3|t EFURIETC) 41 41
4 0




—BEF VT IVAFTASO XS (7A27 BB %)

N = EEFE |BAA  |RER N
=] iv2 KE & (Fr B 57 Ga 73 G8 995 G5 R4k
1[F&M AEEBITALA) 41 90 131
2B XEBAKXE) 63 63 126
3 BEF(HAKXE) 90 90
Al XEERERXE) 41 41 82
5|58 FEBHAXKXF) 23 41 64
6|RF #=3%(GASCTT) 23 23 46
1E2 =R EGFEIHIRITTC) 23 23
il GRS ND) 23 23
2R XEFEULEXSE) 23 23
1IRE BFGHIMATFI—IL) 23 23
7|1%RN 1&(GASCTT) 23 23
12[E@ FEQ—T L) 14 14
12(E% BE®BYL=T7) 14 14
12018 (FHERHZERR) 14 14
12|1L5E  HEE(ROSSO) 14 14
16 0




35U EEFOUTIVAFTASYX LY (7B 27BEE)

B - FETIE |[RAHK  [TRR |
iz E & @& B 9.7 G8 7.3 G8 9.25 G5 hak
HEELL 0




A0 LI EHF U IWAFTASY XY (7B 27 BEE)

& = ELEFIE |BRE |PEW e o

{iz E & (&) 57G8 [7.3G8 |9.25 G5 Ak
1{EE[R 1%+ (GASCTT) 90 90
2| AH 1Z%(Qoo) 63 63
3|=EA EX(Qoo) 41 a1
3IIRAER UVAHA(Qoo) 41 4
5 0




A58 L FHF U IWAFTASY XY (7B 27 BEE)

[ = EEFE |BAA  |RER N

iz E & (&) 57G8 [73G8 [9.25 G5 Ak
1|AE BHEF@EMBEETC) 48 48
2|lUA ZEEMEETC) 34 34
3 0




50 L EEFOUTIVAFTASY XS (7B 27 BET)

[ = EEFIE (BERAK  ([DEW o .

iz E & (&) 57G8 |73G8 [9.25 G5 AAZE
1[/£8 BHELVDHENTC) 90 90
2|lUA ZEEMEETC) 41 34 75
3IBAR HF(LVHENTC) 63 63
4|5 BHEF@EMEETC) 48 48
5/ 8R FE(enjoy) 41 41
6 0




55 EHFOUTIIVAFTASY XS (7B 27 BET)

[ - EEFIE (BERAK  ([DEW o .

i1 E & (&) 57G8 |73G8 |9.25 G5 Ak
1|KZE XFURIETC) 90 90
2| BE#H HFFEBLUTC) 63 63
3|8RIF HF(enjoy) 41 41
4 0




